E #F# » B =%
(*Fr30E3/31BIRTE)
(Bif: )
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I. EEDH
1. RBEE
HEHES 10,437,317 11,214,701 A 777,384
EHEHTESE 5,000,000 5,000,000 0
RIREE 24,000 6,000 18,000
AL E A 59,108 59,108 0
AEE 0 0 0
GiRsh & E & &) 15,520,425 16,279,809 A 759,384
2. EEEE
(WHBEEE
BEITE5IHEE 2,100,000 3,820,000 A 1,720,000
HMBES | LEE 800,000 700,000 100,000
BICET 2RI EaL I — LB L EE 200,000 500,000 A 300,000
BOBEKELEILEE 1,100,000 600,000 500,000
XUXAELEILEE 600,000 0 600,000
TR0 E AL LG 300,000 0 300,000
HEBRBREFIEMIEI2EE 410,000 350,000 60,000
BREBSIE I S EE 1,245,000 1,185,000 60,000
BEEESE 6,755,000 7,155,000 A 400,000
(2)ZDhEEEE
BEM(LEE) 9,015 55,214 A 46,199
tHiER 285,340 159,634 125,706
*DEEEE S 294,355 214,848 79,507
[E € & E & &) 7,049,355 7,369,848 A 320,493
[ & & &) 22,569,780 __ 23,649,657] A 1,079,877
I. afE0o#
1. REAE
x i £ 158,209 61,347 96,862
HZ=E 5,000 12,000 A 7,000
Y £ 56,441 74,701 A 18,260
[FSEESH] 219,650 148,048 71,602
2. EEEE
“HERBESRMAEIEE 410,000 350,000 60,000
BEGAE 1 5E 1,245,000 1,185,000 60,000
GEEEYETSD 1,655,000 1,535,000 120,000
[ & & &) 1,874,650 1,683,048 191,602
II. IEBRBAED AR
1. IEEIERRESE
IEEIERBIESET 0 0 0
2. —RRIFRREAE
Z D fth — A% IF LR B4 BE 20,695,130 21,966,609 A 1,271,479
— R IERRBIEE B 5T 20,695,130 21,966,609 A 1,271,479
OCHLEEEE~DI L5E) 5,100,000 5,620,000 A 520,000
[iEBREAZE & 5T) 20,695,130 21,966,609 A 1,271,479
[ER-EGRMESE] 22,569,780 23,649,667 A 1,079,877




